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Roll No.

Series SHC Code  No. 49
Please check that this question paper contains 11 printed pages.
Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.
Please check that this question paper contains 12 questions.

Please write down the serial number of the question before attempting it.

Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 11 gSaA
iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA
Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 12 iz'u gSaA
Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

jksy ua-

SANSKRIT (Elective)

laLÑre~ ¼,sfPNde~½laLÑre~ ¼,sfPNde~½laLÑre~ ¼,sfPNde~½laLÑre~ ¼,sfPNde~½laLÑre~ ¼,sfPNde~½
Time allowed : 3 hours Maximum Marks : 100
fu/kkZfjr le; % 3 ?k.Vs iw.kkZøk% % 100

funs Z'k%  %funsZ'k%  %funsZ'k%  %funsZ'k%  %funsZ'k%  %

losZ iz'uk% laLÑrsuSo mÙkj.kh;k%A
lHkh iz'uksa ds mÙkj laLÑr esa nsaA
Answer should be given in Sanskrit only.

mÙkjkf.k i`Fkd~ nÙkk;ke~ mÙkjiqfLrdk;ke~ ,o ys[kuh;kfuA
lHkh mÙkj vyx nh xbZ mÙkj&iqfLrdk esa fy[ksaA
Answer should be written only in the separate answer-book provided.

vfLeu~ iz'ui=ks pRokj%pRokj%pRokj%pRokj%pRokj% [k.Mk% lfUrA
bl iz'u&i=k esa pkjpkjpkjpkjpkj [k.M gSaA
There are four sections in this questions paper.

[k.M% d vifBrka'k & vocks/kue~ ¼vifBrka'k & vocks/ku½ 15 vøk%

SECTION A (Unseen Reading Comprehension)

[k.M% [k jpukRedys[kue~ ¼jpukRed ys[ku½ 20 vøk%

SECTION B (Writing Skills)

[k.M% x ifBrka'k & vocks/kue~ ¼ifBrka'k & vocks/ku½ 45 vøk%

SECTION C (Reading Comprehension)

[k.M% ?k NUnks·yøkjk% ¼NUn ,oa vyøkj½ 20 vøk%

SECTION D (Chhanda and Alankaras)
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[k.M% d [k.M% d [k.M% d [k.M% d [k.M% d (SECTION A)
vifBrka'k & vocks/kue~vifBrka'k & vocks/kue~vifBrka'k & vocks/kue~vifBrka'k & vocks/kue~vifBrka'k & vocks/kue~
vifBrka'k & vocks/kuvifBrka'k & vocks/kuvifBrka'k & vocks/kuvifBrka'k & vocks/kuvifBrka'k & vocks/ku

Unseen Reading Comprehension 15

1. v/kskfyf[kre~ vuqPNsn};a ifBRok iz'uku~ laLd`rsu mÙkjr %

v/kksfyf[kr nksuksa vuqPNsnksa dks i<+dj iz'uksa ds mÙkj laLÑr esa nhft, %
Read the following two passage and answer the questions in Sanskrit :

¼d½ izFke% vuqPNsn%izFke% vuqPNsn%izFke% vuqPNsn%izFke% vuqPNsn%izFke% vuqPNsn%

vfLeu~ lalkjs losZ"kka thokuka futks /keZ% vfLrA ;Fkk euq";k% fut/ke± iky;fUr rFkk likZ%]

o`f'pdk% fgalzk% i'koks ok Lo/keZa /kkj;fUrA;Fkk ruks%/keZ% rFkk eul% vfiA ;|fi /keZfopkj.ks

o;e~ ,rn~ u fopkj;ke%] rFkkfi ,rÙkÙoa Kkrqa ijeko';de~A euks/keZ% vfLr] vXusfjo lnSo

cqHkq{kkA ;kon~ bU/kua nkL;rs rkonfXunkgks Hkfo";frA izkKks tu% f'k{k.ksu dnkfi r`Irks u Hkofr]

lnSo l KkrqeqRlqd% HkofrA fo'olqUnjh ukjh dnkfi vkRekua lkSUn;Zfoeq[kha u djksfrA

lglzdksfV/kua yC/ok tu% rrks·I;f/kda /kuefHky"kR;soAeulks f}rh;ks /keksZ·I;fLr] izkIra /kua

Loo'ks ,o /kkj;frA Hkwrs orZekus ok rr~ uk'kf;raq usPNfrA ija lR;a rq fo|rs ,rn~ ;n~ u

rq vesfjdkjk"Vªifr%lo± izkIrqa leFkZ% u ok y?kqns'kL; ekynhoL; jk"Vªifr%A vr% ekuosu lnk

lUrq"Vsu Hkforqa iz;kl%drZO;%A

iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

¼v½ ,dinsu mÙkjr %
,d 'kCn esa mÙkj nhft, %
Answer in one word : ½×2=1

(i) /keZ% ds"kke~ vfLr\

(ii) o`f'pdk% da /kkj;fUr\

¼c½ iw.kZokD;su mÙkjr %
iw.kZ okD; esa mÙkj nhft, %
Answer in a complete sentence : 2

d% dks ok loZaa izkIrqe~ vleFkZa% \

¼l½ ;FkkfunsZ'ke~ mÙkjr  %

;FkkfunsZ'k mÙkj nhft, %

Answer as directed : ½×4=2

(i) vXusfjo v=k d% lfU/kPNsn%\

(ii) ^eulks f}rh;ks /keksZ·I;fLr* v=k drZ̀ina fde~\

(iii) ^jf{krqe~* vL; fda foykseine~ v=k iz;qäe~\

(iv) ^lnk lUrq"Vsu ekuosu iz;kl% drZO;%* v=k fo'ks";ina fde~\
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¼[k½ f}rh;% vuqPNsn%f}rh;% vuqPNsn%f}rh;% vuqPNsn%f}rh;% vuqPNsn%f}rh;% vuqPNsn%

jktk Kkulsu% LojkT;s 'kkL=kkFkZL; vk;kstuedjksr~A n'kfnukfu ;kor~ oknfookn;ks% lrks% Hkkjfo%

fot;h ?kksf"kr%A fo}kala Hkkjfoa lEekuf;rqa jktk ra xtk:<a d`Rok] ifjpju~ x`ga izsf"kroku~A

Hkkstule;s ;nk Hkkjfo% Lofirjeqnklhui';r~ rnk l ekrja rL; dkj.kei`PNr~A ekrk izR;onr~

& ;ks fot;% Ro;k izkIr%] tkukfl ra izfr ro firq% fd;r~ ri% vfLrA fot;enijkHkwr% Roa

Lofirja izfr lEekulwpd &opkafl vfi ukczoh%Afda fo}Ùkk fou;L; R;kx% ,o\ Roa rq jkK% vfi

fou;a u f'kkf{kroku~] ;% Roka lEekuf;raq Lo;a ifjp;kZij%vHko%A ekrqoZp% JqRok Hkkjfo%

Loegadkfjra KkRok] vkRekua f/kd~ÑR; firq% pj.k;ks% vyq.Br~A

iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

¼v½ ,dinsu mÙkjr %
,d 'kCn esa mÙkj nhft, %
Answer in one word : ½×4=2

(i) dL; jkT;s 'kkL=kkFkZ% vk;ksftr%\

(ii) dfr fnukfu oknfooknkS vHkorke~\

(iii) Hkkjfo% dka firq% mnklhurkdkj.ke~ vi`PNr~\

(iv) d% fou;a u f'kf{kroku~\

¼c½ iw.kZokD;su mÙkjr %
iw.kZ okD; esa mÙkj nhft, %
Answer in a complete sentence : 1×2=2

(i) fo}kala Hkkjfoa lEekuf;arq jktk fdedjksr~\

(ii) ekrqoZp% JqRok Hkkjfo% fdedjksr~\

¼l½ ^;ks fot;% Ro;k izkIr%* v=k ^Ro;k* bfr loZukeian dLeS iz;qäe~\

^;ks fot;% Ro;k izkIr%* ;gk¡ ^Ro;k* ;g loZuke in fdlds fy, iz;qä gS \

^;ks fot;% Ro; k izkIr%* In this sentence for whom is ^Ro;k* pronoun used ? 1

¼n½ ;FkkfunsZ'ke~ mÙkjr %

;FkkfunsZ'k mÙkj nhft, %

Answer as directed : 1×3=3

(i) ^ro firq% fd;r~ ri% vfLrA* v=k drZ̀ian fde~\

(ii) ^fo}kala Hkkjfoa lEekuf;rqe~* v=k fo'ks";a fde~\

(iii) ^vkd.;Z* bR;FksZ v=k fda ina iz;qäe~\

¼;½ vL; vuqPNsnL; Ñrs leqfpra 'kh"kZda fy[krA

bl vuqPNsn ds fy, leqfpr 'kh"kZd fyf[k,A
Write a suitable title for this paragraph. 2
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[k.M% [k [k.M% [k [k.M% [k [k.M% [k [k.M% [k (SECTION B)
jpukRedys[kue~jpukRedys[kue~jpukRedys[kue~jpukRedys[kue~jpukRedys[kue~
jpukRed ys[kujpukRed ys[kujpukRed ys[kujpukRed ys[kujpukRed ys[ku
Writing Skills 20

2. e×tw"kkr% mfprløsrku~ x`ghRok v/kksfyf[krka dFkka iqu% mÙkjiqfLrdk;ka fy[kr %

e×tw"kk ls mfpr løsr ysdj fuEufyf[kr dFkk dks iqu% mÙkj&iqfLrdk esa fy[ksa %

Re-write the following story, taking hints from the words given in the box below : 1×10=10

jktk jkts'oj% vrqyHkksxku~] oSHkoa lÙkklq[ka p fujFkZ ada (i) __________rifLou%

:is (ii) __________ ] ;kor~ vkRerÙpe~ vUoS"k;r~ (iii) __________ l dkefi lQyrka u

(iv) __________A ,dnk l (v) _________ ,de~ v=kkxkje~ vf/kxroku~A Ñ"kd% ra r=k n`"V~ok

Hk`'ka (vi) __________ ] mokp p ^^vkxPN fHk{kks! r.Mqykfu uhRok ,rkfu (vii) __________A

v/kZa Hkoku~ Hk{k;rq] v/kZa p Hkkstue~ vge~ dfj";kfeA** fHk{kq% rFkSo lo± O;n/kkr~A JkUr'p

r=kSo o`{ke~ (viii) __________ Nk;k;ka 'kf;roku~A {k.kkuUrjs l lEeq[ks rstlk nsnhI;ekua iq#"ke~

vnzk{khr~A l jktkue~ mokp & ^^vga deZ vfLe] l`"Vs% ijea rÙoe~A fjäs (ix) __________

yhu% Roa eke~ foLe`roku~A v| JeL; (x) __________ Roa ekef/kxroku~A ,oa l`"VkS deZf.k

vuklDr% lu~ tuks·ejRoa izkIraq {ke% Hkforqa 'kDuksfrA

e×tw"kke×tw"kke×tw"kke×tw"kke×tw"kk

vpZu;k] rifl] 'kro"kkZf.k] KkRok] ije~] v/k%] izklhnr~] {kq/kkihfM+r%] ikp;] izkIroku~A

3. e×tw"kkra% inkfu x`ghRok ^i;kZoj.kL; j{k.ke~* bfr fo"k;s laLd`rsu n'k okD;kfu fy[kr%

e×tw"kk ls inksa dks ysdj ^i;kZoj.k j{kk* ij laLÑr esa nl okD; fyf[k, %

Write ten sentences in Sanskrit on the topic 'Protection from Pollution' taking words
from the box : 1×10=10

e×tw"kke×tw"kke×tw"kke×tw"kke×tw"kk

o`{k.kka NsnukHkko%] unh"kq nwf"krinkFkkZuke~ {ksi.kkHkko%] y?kw|ksxkuka fo'kkyks|ksxkuka p i`Fkd~ LFkkus"kq

LFkkiue~] ;kukuka iznw"k.kL; vHkko%] i'kwuka leqfprk vkoklO;oLFkkA
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[k.M% x [k.M% x [k.M% x [k.M% x [k.M% x (SECTION C)
ifBrka'k & vocks/kue~ifBrka'k & vocks/kue~ifBrka'k & vocks/kue~ifBrka'k & vocks/kue~ifBrka'k & vocks/kue~
ifBrka'k & vocks/kuifBrka'k & vocks/kuifBrka'k & vocks/kuifBrka'k & vocks/kuifBrka'k & vocks/ku

Reading Comprehension 45

4. v/kksfyf[kra x|ka'ka] i|ka'ka] ukV~;ka'ka p ifBRok iznÙkiz'uku~ ;FkkfunsZ'ka laLd`rsu mÙkjr %

fuEufyf[kr x|ka'k] i|ka'k rFkk ukV~;ka'k dks i<+dj fn, x, iz'uksa ds mÙkj ;FkkfunsZ'k laLÑr esa nsa%

Read the following prose-poetry-drama passage and answer the questions as per
instructions in  Sanskrit :

¼d½ x|ka'k%x|ka'k%x|ka'k%x|ka'k%x|ka'k%

xúnÙk vkg & ^^Hknz ! d`ra Ro;k fe=kd`R;aA rRlkEizra ?kfVdk;U=kekxsZ.k xE;rke~** bfrA

liZ vkg & ^^Hkks xúnÙk! u lE;xfHkfgra Ro;kA dFkega r=k xPNkfe\ enh;fcynqxZeU;su #)a

Hkfo";frA rLekn=kLFkL; es e.MwdesdSda LooxhZ;a iz;PNA uks psr~ lokZufi Hk{kf;";kfeA**

iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

¼v½ ,dinsu mÙkjr %
,d 'kCn esa mÙkj nhft, %
Answer in one word : ½×2=1

(i) fe=kd`R;a dsu d`re~\

(ii) xúnÙk% li± dsu xUrqa dFk;fr\

¼c½ iw.kZokD;su mÙkjr %
iw.kZ okD; esa mÙkj nhft, %
Answer in a complete sentence : 2

liZ% dku~ Hk{kf;";fr\

¼l½ ;FkkfunsZ'ke~ mÙkjr  %

;FkkfunsZ'k mÙkj nhft, %

Answer as directed : 1×2=2

(i) ^v/kquk* bR;FksZ fde~ vO;;e~ v=k iz;qäe~\

(ii) ^vuqfpre~* bR;L; fda foykseine=k iz;qäe~\

¼[k½ x|ka'k%x|ka'k%x|ka'k%x|ka'k%x|ka'k%

tkM~;a f/k;ks gjfr fl×pfr okfp lR;a]

ekukséfra fn'kfr ikieikdjksfrA

psr% izlkn;fr fn{kq ruksfr dhfr±

lRlúfr% dFk; fda u djksfr iqalke~AA
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iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

¼v½ ,dinsu mÙkjr %

,d 'kCn esa mÙkj nhft, %

Answer in one word : ½×2=1

(i) d;k fn{kq rU;rs dhfrZ%\

(ii) lRlaxfr% okfp fda fl×pfr\

¼c½ iw.kZokD;su mÙkjr %

iw.kZ okD; esa mÙkj nhft, %

Answer in a complete sentence : 2

lRlaxfr% iqalka fda fda djksfr\

¼l½ ;FkkfunsZ'ke~ mÙkjr  %

;FkkfunsZ'k mÙkj nhft, %

Answer as directed : 1×2=2

(i) ^lRlaxfr% iqalka fda djksfr* v=k drZ̀ina fde~\

(ii) ^cq)s%* vL; d% i;kZ;% v=k iz;qä%\

¼x½ ukV~;ka'k%ukV~;ka'k%ukV~;ka'k%ukV~;ka'k%ukV~;ka'k%

oVo% & Hkks Hkks%! fda iz;kstuks·;e'o% ifjo`r% i;ZVfr\

yo% & ¼lLi`gekRexre~½ v'oes/k bfr uke fo'ofotf;uka {kf=k;k.kkewtZLoy% loZ{k=kifjHkkoh

egku~ mRd"kZfud"k%A

          ¼usiF;s½

;ks·;e'o% irkds;eFkok ohj?kks"k.kkA

lIryksdSdohjL; n'kd.Bdqyf}"k%AA

iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

¼v½ ,dinsu mÙkjr %

,d 'kCn esa mÙkj nhft, %

Answer in one word : ½×2=1

(i) ^v'oes/k%* bfr ds"kkeqRd"kZfud"k%\

(ii) v'o% dFka i;ZVfr\
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¼c½ iw.kZokD;su mÙkjr %

iw.kZ okD; esa mÙkj nhft, %

Answer in a complete sentence : 2

ohj?kks"k.kk dhn`'kL; dL; pkfLr\

¼l½ ;FkkfunsZ'ke~ mÙkjr  %

;FkkfunsZ'k mÙkj nhft, %

Answer as directed : 1×2=2

(i) ^rstLoh* vL; d% i;kZ;% v=k iz;qä%\

(ii) ^y?kq%* vL; fda foykseine=k iz;qäe~\

5. js[kkf”ørinkuka 'kq)e~ vFkZa iznÙkkFksZaH;% esyf;Rok fy[kr %

js[kkf”ør inksa dk 'kq) vFkZ fn, x, vFkks± ls feykdj fyf[k, %

Write the correct meaning of the underlined words after matching them with the given
meanings : ½×4=2

¼v½ izkr% izkreZ/kq;qra dkeykÙkkZ; ;kst;sr~A

(i) Ñ".ko.ksZu vkrkZ;

(ii) deyL; iq"ik;

(iii) ikMqjksxihfMrk;

¼c½ ficsRlq[kks".ka lfcMa xqYekukgkjkfrZftPp  ;r~A

(i) o`{ko`f)dkjde~

(ii) xqYeihMkgje~

(iii) xqYeo`f)osnukgje~

¼l½ dqEHL; pw.kZa l{kkSnza =kSQysu jlsu okA

(i) ?kVL;

(ii) LukuL;

(iii) xqXxqyL;

¼n½ f=kQyk;k xqMwP;k ok nkO;kZ fuEcL; ok jle~A

(i) myw[kysu

(ii) pelsu

(iii) nk:gfjnz;k
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6. js[kkførinkfu vk/k`R; iz'ufuekZ.ka dq:r %

js[kkfør 'kCnksa ij vk/kkfjr iz'u&fuekZ.k dhft, %

Frame questions based on the underlined words : 1×4=4

(i) lR;su iUFkk forrks nso;ku%A
(ii) deZ.kSo laflf)ekfLFkrk tudkn;%A
(iii) iq#"kk.kkef[keyizR;{kkyu{kee~A
(iv) diZjs·fHkuos 'kqpkSA

7. v/kksfyf[krHkkokFkZ;ks% fjäLFkkuiwfrZ% e×tw"kkinlgk;r;k dq#r %

fuEufyf[kr HkkokFkks± esa e×tw"kk ds 'kCnksa dh lgk;rk ls fjäLFkku iwfrZ dhft, %

Fill in the blanks in the following explanations with the help of words given in the box : 3+3=6

¼v½ Js;'p izs;'p euq";esrLrkS laijhR; fofoufä /khj%A
Js;ks fg /khjks·fHkizs;lks o`.khrs] izs;ks eUnks ;ksx{ksekn~ o`.khrsAA

HkkokFkZ%

lkekU;r% ykSfdd% (i) _________________ dY;k.ka p izkf.kua izfr Lo;ekxPNr%A ;% tu%

(ii) ___________ l rkS yC/ok lE;x~ fopkj;fr (iii) __________ tu% vH;qn;kr~ dY;k.ka]

vYiK% p fiz;rja oLrq lef/kxPNfrA

¼c½ fu;ra dq# deZ Roa deZ T;k;ks gzkdeZ.k%A
'kjhj;k=kkfi p rs u izfl)~;sndeZ.k%AA

HkkokFkZ%

JhÑ".kks ;q){ks=ks deZ.kks fojretZqua lEcks/k;fr &

gs vtqZu! Roa (i) _________ Lodk;Za dq#A deZghurk;k% rq deZ ,o (ii) __________A ;%
tu% deZ u djksfr rL; rq (iii) ___________ ,o vye~A

e×tw"kke×tw"kke×tw"kke×tw"kke×tw"kk

cqf)eku~] /khj%] vH;qn;%] oje~] thforsu] iz'kL;rje~A

8. v/kksfyf[kr;ks% vUo;;ks% fjäLFkkukfu iwj;r %
fuEufyf[kr vUo;ksa esa fjäLFkku&iwfrZ dhft, %
Fill in the blanks in the following prose order renderings : 1½×1½=3

¼v½ rr'pkxR; ekeso oknk;kà;rs Le l%A
izo`Ùks pko;ksokZns iz;krk% lIr okljk%AA

vUo;%

rr% p l% (i) ____________ oknk; eke~ ,o (ii) _____________A vko;ks% okns

(iii) _________ lIr okljk% iz;krk%A
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¼c½ izFkea Vw;ekuks·fi ofl"BL;kK;k rr%A
dkSf'kdL; djs jktk nnkS jkea ly{e.ke~AA

vUo;%

izFkee~ (i) ____________ vfi] rr% ofl"BL; (ii) ____________ jktk dkSf'kdL; djs

(iii) ____________ jkea nnkSA

9. ;FkkfunsZ'ke~ mÙkjr %
;FkkfunsZ'k mÙkj nsa %
Answer as directed :

¼d½ d% da dFk;fr\
dkSu fdldks dg jgk gS \
Who is saying this to whom ? 1×2=2

(i) euks es laeksgfLFkjefi gjR;s"k cyoku~A
(ii) ^ik"kk.kp;fuc)s dwis*A

¼[k½ fo'ks";a fpuqr %
fo'ks"; pqfu, %
Select the qualified noun : 1×2=2

(i) pj.kksiHkksxlqyHkks yk{kkjl%A

(ii) nk#.kks y{ehen%A

¼x½ dr`Zina fpuqr  %

drkZ pqfu, %

Select the subject : 1×2=2

(i) r;ksjU;% fiIiya Lokn~ofÙkA

(ii) vkIrksilsoh p HkoR;jksx%A

¼?k½ ^^,"k oks yoL; f'kjlk iz.kkei;kZ;%A** vfLeu~ okD;s ^^,"k%** bfr loZukeina dLeS iz;qäe~\
^^,"k oks yoL; f'kjlk iz.kkei;kZ;%A** bl okD; esa ^^,"k%** ;g loZuke in fdlds fy,
iz;qä gS \ %
^^,"k oks yoL; f'kjlk iz.kkei;kZ;%A** In this sentences pronoun ^^,"k%** has been employed
for whom ? 2

¼³½ v/kksfyf[krin;ks% i;kZ;kS ys[;kS %

fuEufyf[kr inksa ds i;kZ; fyf[k, %

Write the synonyms of the following words : ½+½=1

(i) nk;kn%

(ii) u`'kal%
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¼p½ v/kksfyf[krin;ks% foykseins ys[;s %

fuEufyf[kr inksa ds foykse 'kCn fyf[k, %

Write the antonyms of the following words : ½+½=1

(i) oaRly%

(ii) foin~

10. v/kksfyf[kr;ks% ,d,d,d,d,dL; laf{kIr&ifjp;% ys[;% &

fuEufyf[kr esa ls fdlh ,d,d,d,d,d dk laf{kIr ifjp; nhft, %

Write a brief note on any one of the following : 1×5=5

(i) fo".kq'kekZ

(ii) vfHkKku'kkdqUrye~

[k.M% ?k [k.M% ?k [k.M% ?k [k.M% ?k [k.M% ?k (SECTION D)
NUnks·yøkjk%NUnks·yøkjk%NUnks·yøkjk%NUnks·yøkjk%NUnks·yøkjk%

Nan ,oa vyøkjNan ,oa vyøkjNan ,oa vyøkjNan ,oa vyøkjNan ,oa vyøkj
Chhanda and Alankaras 20

11. ¼v½ iz'uku~ mÙkjr %

iz'uksa ds mÙkj nhft, %
Answer the questions : 1×6=6

(i) y?kqo.kZ% dnk xq#HkZofr\

(ii) ^fouhre~* vfLeu~ ins dks x.k%\

(iii) olUrfrydk&NUnfl dfr o.kkZ%\

(iv) f'k[kfj.kh&NUnfl ^jlS%* vusu dks·fHkizk;%\

(v) vuq"Vqi~ NUnl% vU;r~ fda uke\

(vi) mitkfr&NUnfl d;ks% NUnlks% iz;ksx% Hkofr\

¼c½ v/kksfyf[krk% ifjHkk"kk% iwj;r %

fuEufyf[kr ifjHkk"kk,¡ iwjh dhft, %
Complete the following definitions : 1×2=2

(i) trkS rq--------------------------tjkSA

(ii) uue;;---------------- HkksfxyksdS%A

¼l½ v/kksfyf[krs"kq dL;fpnsdnsdnsdnsdnsdL; NUnl% mnkgj.ka fy[kr  %

fuEufyf[kr esa ls fdlh ,d,d,d,d,d NUn dk mnkgj.k fyf[k, %

Illustrate any one of the following metres with an example : 2×1=2

mitkfr%] vuq"Vqi] 'kknwZyfoØhfMre~A
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12. ¼v½ v/kksfyf[krk% ifjHkk"kk% iwj;r % %

fuEufyf[kr ifjHkk"kk,¡ iwjh dhft, %

Complete the following definitions : 1×4=4

(i) f'y"VS% inS ___________ b";rsA

(ii) HkosRlaHkkouksRizs{kk ___________A

(iii) vuqizkl% 'kCnlkE;a ___________A

(iv) lkE;a okP;eoS/kE;± ___________A

¼c½ v/kksfyf[kr;ks% ,d,d,d,d,dL; vyøkjL; mnkgj.ka fy[kr dkj.ka p Li"Vhdq#r %

fuEufyf[kr esa ls fdlh ,d,d,d,d,d vyøkj dk mnkgj.k fyf[k, vkSj dkj.k Hkh Li"V dhft, %
Illustrate any one of the following figures of speech with an example and justify the

usage : 3×1=3

vFkkZUrjU;kl%]  ;ede~A

¼l½ v/kksfyf[kriafä"kq ds vyøkjk% %

fuEufyf[kr iafä;ksa esa dkSu&ls vyøkj gSa %

Name the figures of speech in the following lines : 1×3=3

(i) ihRok rnzktiRU;Lrk vUroZRU;ks·Hkou~ nzqre~A

(ii) tkukfe rka i';Urh of×prsoA

(iii) izd`frfl)fena fg egkReuke~A


